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Name : { ) Date

Ciass :P 6 (_ )

Duration: 1 h 45 min (Partst & i)

Part i: ’Gﬂmarks)

For each guaston from 1 to 30, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 of 4). Shade the correct oval (1,2, 3 or 4) on the Optical Mark

Sheet (OMS;

1. Study the classification tabie below.
Group A Group B Group C Group D
Shrimp Tubifex worm Seal Water spider
Tadpole Flatworm Dugong Water scorpion

-

State how the animals above are grouped &

nd identify one animal that is grouped

incorrectiy?
Animals Animal
are grouped according to tieir that Is grouped incorrectly
{1) adaptations for movement Dugong
(2) adaptations for movement —Freg. Tladpole
(3) method of breathing Shrmp
(4) method of breathing Water scorpion
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2. Jolyn carried out an investigation as shown in the diagrams below.
Set-ups A, B and C were placed in a wellHit room. Set-up D was kepi in a dark room.

1 [ 3 (
e : Lt 2 T faver
_7 - tap —u' - T aof oil
o Q- - water D _ D~
o o s
. . ﬁ‘Sh _ . T boited
. — e & _ - - = wafer
o~ = e
Set —up A Setup B
1 f ) f
. = - - tap - -~ - _@; .
iy _«olﬁ' - water _ q};-‘o‘ﬁ, 1 placed in
- - I Sl a dark room
: - 4 water"—_“——r?-'zi - ?/_——
K- e . plants SEIAIAR B
i Setup D

in which set-up would the fich survive the longesi?

(1) Set-up A
(2) Set-up.B
3 Set-upC -
(4) SetupD

3. The diagram below shows the fruit of a plant.

What can we infer from the diagram’?

A: The plant is a climber.

‘B:  The seeds are inedible.

C:  The plant has flowers.

[¥  The seeds are dispersed by splitting action.

(1} Aonly .

{2y BandC only
(3) C andDonly
(4) A, B,CandD

T
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4. '_._Stud'y:t‘h_e food \.ére_b below.

-\Which one of the following can be used to complete the food web? .

E

A B8 C_ D
() Snail - Lizard - -~ Aphid - Ladybird. Sparrow
. {2)|__Spider{ |- Lizad | Caterpillar Sparrow | . Snake *
- (3).1_. Lizard { Sparrow { |- - Buttedly - Millipede-  Spake
-{4y{_Ladybird | Spider. 1 Prayingmantis | - Lizard . Sparrow
5. " The diagram bsio‘;u s.hou.-"s a plant cell.
- Which ong of the 's'tr‘us‘tuqres controls substances that go.in and out of the celi?
A
. 2) B
-3 C
s @ D
B, Wh:ch of the foliovwng structures are found in an:ma. ce!ts’?
(.1). ceil wall, cell menbrane nucleus
L@ Et piasm, nucleus, q:g!oropla
- (@) cel membrane, nucleus, cytoplasm
. @ cefl membr"ne;“m@cytoplasm

1 L2




- 7 g Shao Tian carriad out an expenment to investi
T setwpina weil-h*
- solution. :

S What would be the colours fgr'parte P, Q and R?.

cork

leaf tested
for starch

pollets to abqorb.

carbon aioxsde :

Igate photosynthesis. He feft the

room for 10 hours Then he tested the loaf for starch using iodine - |

= :

. P Q
(1) { blue/black brown . 1 brown
- {2) | blue/black blue/black - | brown
. . {3} | brown L blue/black | blue/black
- {4)-{ blue/black. brown blue/black

g .'T-‘lerdlagrar'ri belo

" body.

: Which one of the fol!owmg rrectlg represents the 0
of blood carned by the b!ood vaesselsat D and F? -

s i
wH A

a representatlon of the ¢
.The ammows represent the bload vesse!e and the

Oﬂ":ﬁf pérts

et N obedY

rcu:atory system in Man,

boxes represent the organs in the

rgens, A and B, and the type

~ A B D F_
S (‘i ) ' Lunge ' Heart] - | Deoxygenated Oxygenated
S @2 Lungs{~ | ° Heait| ~ 1~ Oxygenated | Oxygenated | |
-(3){ - Heart _Liings . Oxygénated Déoxygenafed .
. Lungs . Deoxygenated Deoxygsnated

-Heart

15k



9. ' Ruther selected 4 similar leafy plants and apphed vaseline onto different parts of
- thé plant. Vaseline coats the leaf and prevents water loss from thie leaf surface
-~ He recorded the werght of each plant at the begmmng of the expenment

Parts O‘i’ !eaves w;th vase!me

[Pant—

Upper leaf surfaces covered with waterproof vaseline

Lower leaf surfaces. covered with waterproof vaseline

'gﬂllﬁ

"1 Lower and upper ieaf suifaces covered with: waterproof vasel ine .

w)

1 Vasellne ‘was not applied to the leaves

~L 5 Lossin weight
_qf_plant (g), ’

Time (hdurs)

*.He measured the welght loss for each planf every 2 hours and plotted the resuits in
- the giaph above. . . . :
) Which graphs would show the resu!ts for piant A and plant D?

[

Plant A Plant D Y

@

)

#hﬁ‘l\)-—-\

R4

-—uxmrd:

ey
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- 10, Aioysms placed a stalk from a plant in red coloured water. He removed’ the stalk
: ;2 hours later and cut it across at PQ as shown i inthe diagram befow.

Re{j -colaured L
water

. .. He'observed the parts of the. stalk. that ‘were stained red. . :
= Whlch one of the followmg diagrams below shows what he observed?

Parts

coloured Palrts
: coloupred
red
red
4)
Faris
coloured
Parts red
coloured
red

" Development of a Flowering Piant
Fertilisation of the ovules '
Pollination by wind
Oammination of sesds .

{ Oispersai of fruits and seeds .
- Fﬁuuatton of fru-ts and seeds

mi:lc')cu:s'-_

Whtch one of the foilou\nng shows the correct order for the deve!opment or a
T ﬂowenng piant?

. . Order for Development ofa Ffowenng Plant .
- Sfage 1. | Stage2 |. Stage3 Stage 4 . Stage 5
(1) A D .. B i E -
T @) - C A E- i D B
S (3). -E & D A - B . C
' 4) B . A E G- C

\5b



13.

12.

T{ab:;ol “'\. A . T . !‘ia.:-m; ?“‘
The habitat is dark, wam -Frogs, dragonflies and
.+ | and -humid. . - { water-measurers are seen. -
_.-,Spiders are feedmg on mzlhpedes Duckweeds and lotus are found.

(1) {Field - .| Mangrove swamp
(2){Rottinglog . =~ |Pénd :

- (3) | Single plant Ocean
@) |Garden -~ . . |Seashore

The diagram bé{ow’ shows leaf A.

Leaf A

- -- ‘- )

'Which ane of the following is most similar to leaf A?

The table below shows the observations made by Wai Pan in 2 habitats; A and B.

- What cou!d habrtats Aand B be? ‘

HabitatA | TiabiatE




14.

15.

Study the food web below carefully.

Vs

Which one of the following graphs shows correctly what wiil happen to the
populaticns of Qrganisms B and D if all of Organism F are wiped out?

(1) I (2) A
- Population D Population
size | _— sizet———— D

[=]
(o

v

.
Lo

Time ' Time

3) (4) '
N ! °
Population Popuiation |
size size D

L ]
A 4

Time Time

Which of the following processes take place in both plants and animals?

Persgiraticn
Transpiration
Respication
Reproduction

SoRE

(1) A and B only

(2) C and D oniy

3} A,BandD only
(4) B,CandD only

15%



' 16 The graphs below show the mass 5 of 4 bal!oons A, B, c and D, before and after
T '_A;_alr has been pumped mto theﬂn ' . C -

B

P

-Whtch one of the fohowmg shows the balloons arranged correct!g in order of
-increasmg mass of air that has teen purrped in?

o .-(1)
L@
- 3) -
@

);.S‘j e
oo

Oowm:

)

®30n-
- Pm

17, “"bophla éonducted an -experiment to find out which thtd fuel, A or B, prodhces more
e _heat when buu.. -The d.agrams below show the set-ups for her experimerit.

ﬂ——' "!"“r’nomf.‘tf_‘f

. _water

: 1 water A
(180 mi)

(200mi) -

ORI v ey

L

tripod .
stand

Fuel A Fuel B
i {100 mi {80 mi}

Ntcole satd that itwas not a fair test.
'.'Whatvanables s"ruulf‘ Sophia keep the same to make it a- falr test7

CA: Type of fuei :
- B Volumeoffuel ~
-G Volume of water

S Aoy P
@ - Bonly - - _ o SR
#7(8) -Band Conly - SR I A
. {4 ABandC ‘ 7 o o _ .

5§



BT}

- Stady the circuit below.

- Only one bulb fighted up be_cgﬁ__se of a defective ‘bu_!ti in the (:Ircui-t; :

N

. Which bulbwas defective?

) A
@ B
(3 ©
(4) D

- A metal baii rolis from rest at Point A down the track to Point E as shown below.

i 2N 2R 3
" At which point along the track will the metat-balf héve the mast kinetic energy?
- (1), B.
@ <
@ - b
.4y - E-
. : 10

lLo-vr
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: 21..

22.

* The diagrams beicw she
-7 comact order: -

il

5
=]
=t

Ioad

(1 Y - The effort reqmred is mote than the-load.

_{2) .The effort and the load miove in ‘opposite directions.
- {3)  The load moves a greater distance than thé effort..

(@) The ﬁ)_(ed pul.ey does not change the direction of the effort.

Whic‘i ot the foliow-ng statemeqts acout mass.is true?

o 1 1 ;' Mass is not a force. - :
.(2) ~ Objects with the same shape have the saivic mass.
. {3}  QObjects wiih the same mass have the same volume.
© (4) Thé mass'of an object is different at different places.

the phases of :nc w*iuon in‘a m ath.-Th

Wfli"c_:hfqhe._qf the _fgilqw;f_ing, :__:.;'tuatem(—;‘r'ifs about the pulley sy'sterr-{_ betow is true?

ey are not in the

2
AN

S
[

{2) - E,D,AC,B.
(3) ‘AD,B,C.E
@ .8, D.A E.C .

Whtch one of the foilomng shows the pnases of tbe Moon in the correct order’? -

" (1) C,AD,B,E

11
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23. A WOoden_ block and a gfass block have shapes cut cut from them as shown below.

’ woodé'n block . - g!asé black

The blocks are then placed in line with each other and glued together. A light
‘source is brought near the glued blocks. : ' S

[;

L.

giued blocks © . . screen

Which one of the fallowing is most likely to be the shadow formed on the screen?.

(2)

@ . : @

12



24.  Javier conducted an experiment with 4 different liquids, A, 8, C and D. The
liquids do not mix but form separate layers when poured into a container.

TATATATAY e
BRoY

L "
YAV AV

AYATANAWLY eelrisiel
WATAYAT A Xy,

liqud '  Liquid  Uquid®  Liquid
A B c

He combined 2 fiquids at a time in each container and-made the folfowing observations.

Based cn Javier's observations above, which one of the following diagrams below
shows what might happen when all 4 liquids are combined in a container?

(4)

(1) (2) | (3)

25.  Wiuch: of the following stalements abGut evaporation of water are frue?

A Water evaporates at a fixed temperature. _
- B: Cold water evaporates slower than warm water _
C: -. Rate of evaporation of water is affected by exposed surface area.
" D: Rate of evaporation of water is not affected by environmental factors.
{1 A and B only . S : i

(2) "BandConly
{(3) A, CandD cnly
(4) ABCandD

13
I&]




26.

27.

Mei Ting wants to find out if the surface of a siope affects how fast an object
moves. She uses a ramp with a polished surface as shown in the diagram below.

) Box
2kg
30 cm

3¢ ™
Polished ramp

Which one of the following set-ups should Mei Ting use to make her experiment a
fair test?

(1) 2)
3ig
30 ca
30

Sandy ramp Polished ramp
3) (4)
_ 2 kg
7 i 60°
30 cmL 30 cmL
Polished ramp : ' “Sandy ramp’ |

]

LEEE

shadow
bOX ——— - /

Which bulb when lighted is likely to casta sﬁadow in the set-up shown in the
diagram above?

() W
(2) X
3) Y
4 Z

14

¥



28.

2G.

‘The diagram below shows how much water a strip of paper could soak up in

20 seconds.

After 20 ssconds’

if the strip of paper soaks up water at the same speed, how iong would it take to
soak up water to the {evel shown below?

(1) 15 seconds
(2) 25seconds
(3) 0 seconds
(4) 35 seconds

Jiong Hac measured the length of a spring each time he put some maibles in a pan.
He plotted the graph below to show his resiilts.

retort ;

j. N 5 R !

B b 3 —— & ——
v} 1 -2 3 4 1 6
Number of marbies

What is the extension of the spring when he put 4 marbles in-the pan?

(1y 8cm

(2) 10cm
(3) 12 cm
(4) 14 cm




30. The diagrams below show a home-made thermometer that is not calibrated
(i_e. without the temperature scale) in a beaker of water of different temperatures.

P T r—
e

loed Boiling Ta;:}
water water water

What is the iikely temperature of water in beaker C?

(1y o0°C
2)  20°C
(3) 75°C
(4)  100°C

END OF PART 1

16
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Parent’s Signature

- Maha Bodhi Schooi
2008 Preilrunary Examlnatlcr

C S_qence_-,_
Name | { J ,
 Duration : 1-h 45 min '(-ﬁérts gy o 2 o i‘;::(s) |
" Date . E 21 August 2008 (10(-; (r)rt:?alrks)'

Part ll

(40 man(s }

’?:_'ii_e yeur answers fo questtons 31to dﬂ in thes script.

)

j 31 - .\:'Vhen p!énts and. aniina!s d.ie thﬂ)" h‘ecérnﬂ food for -";cioc.)mnosers
o The equatlerz beww shows what hap;pens when decompcsers fepd on qead matter. - |
g:c?i;ﬁgi -' _Decpmécsé@ > I P R + ;C.alfbor-l dioidd_e_:._ 1
(a) ~ What could P oo | s
‘ [1] |

'Based on tfie equatton above are earthwonns and maggots decomposers‘?

Explain your answer.

i p—
TN
S pud

'-/67

T




32.  Debtie recorded the amount of digested food in the blood after a meal in the
graph below.

¥
Amount
of
digested
food
in
blood

.
ol

Time (hours)

(8)  Which part of the graph shows when the digested food is first absorbed?

[

(b) In which part of the digestive system is the food absorbed?

[“2)
(¢)  Why did the amouat of digested food in the blood drop at part D?

[}

(1

18
\\,‘1:



-~33. ._The diagram below shows 2 plants.

P_iant Y

" {a) . Bésed bn the diégréms above o'n!y, state 2 differences bé_twéen Piant X and Plant Y .

CPantx . . “PlantyY _

ro

DR

' '(-b) _ _Namég the adapti\{e feature in Piant X.

—[sz_é '

: (c) ~ Dgscribe how the édaptive feature nar'hed in (b) heips the plant to survive in its .
Chabitat.. ’ : ' ST . : - B

N : [1/2]_: e

(d) - Aquafic plants fike Cabomba have air spaces in their leaves and stems.
How do the air spaces help the-plant survive in its habitat?

= [‘1]‘_._" |

18

% ?




34.  Yenlink used the same amount.of an aquatic plant, Elodea, in both set-ups A and B.
She added some baking soda to the water in set-up B to increase the amount of
-carbon dioxide in the.water. Then she placed both set-ups under suniight.

' ~The dlagrams below show the set-ups at the beginning of the expenment

. thermometer—
_~ sunlighf sunlight
~
= P
Elodea water
ot : ) < water containing
Set-up A Set -up B baking soda

‘She recorded the volume of.gas collected in each of the mverted test tube everyday
for 5 days Then she s}-u'ted the graph bélow {o show the’ resuits of hér expenment

&.

Volume GeaphX .~
of gas
produced Graph Y
. {e)

By
>

Time (days)

(aj “What is _tﬁé gas collected in the test tubes?

T : | - | v
(b)  Which graph represents the set-up containing baking soda?
11
{c) - - Give a reason for-your answer in (b).
1IN
2ei .

20
vl



(@)

" ()

germinatlon. _

LIGHT

alr
tomperaturs 18°C

air CUPBOARD  REFRIGERATOR

Hu' Ting setup an expenment to :nvestigate the: COGu-flOﬂS necessary for

A temperature ig°C __{

el

air’

- —— temgeraturs 3°C

D .

“« .

~In.which set-up(s) would germination occur?

el The diagrams A fo E beloi show the different conditions for-esch'set-up. . -

“seeds in Beaker E did riot germinate.

_ Did she make the correct conclusion?

Huiting concluded thaglight# an important factor for germmatlon because the

\-.

Which beaker in the expenment cou!d be used to support
- Giég a reascn for your answer. '

Iz

your answer in (b)?.

21

477




36.

(@)

(b)

37.

The diagrams below show the fruits of 2 plants.

soft hair

How is each fruit dispetsed?

Fruit A:_

Fruit B:

{11

Exptain how the charactenstic of each fruit help in its dispersal.

1

Organisms A, B, C, D and E are found in a habitat. -
QOrganism A is a producer.
Organisms B and E are herbivores.
" Organism C eais 8, Dand E. _
Organism D is an omnivore and is both a prey and a predator.

Use the above information to construct a food web in the space below. [2]




. Wei Txong and Jeny carned out an expenment to. mvestrgate the effect 01
- ';_-exe-“ctse on [herr breathmg rate _ R

Cew o
[ I

RS They measuaed thelr breathtng rate before the exerclse “Then they ran for 30 .
s minites. They measured their breathirg rate immed:alely after the uny and agam
- _ﬂeraw two-"nznute for, 10 mmutes : . : . :

- __""hey recorded thetr breathlng rates before anu a‘ter the exercrse m the table below SN

Student '_ ‘ s v Before . Number of mtnutes a“er emrense -

: : exercise | 0O 2 4 | 6 . 8 |- 10 '
‘Wei "iong Breaths/min- | . 14.. 44 38 | 32 26 18 14
Jerry : Breathsfmm ) 12 38.- 30 22 14 12 ‘12
T :(a) ’ Plot and draw a qraph each for Wei Tong and Jerq, to show how their
breath:ng rates change after the exerf'lse bel the graphs o 121 e
. Breaths
per

minute

- Time after exerc‘se' (rﬁih)

.. {b} Which of the boys Wei Tiong or Jerry; made a quacker recovery fram [he -
. exercise? Givé a reason for your answer. - o

e




39. The diagrams A to E below show some examples of levers.

D: Baottle cap
A: See-saw opener

(a}  Use the chart below to classify tevers A to E according to the position of the load,

effort and fuicrum.
One example, A, has been done for you.

LEVER
X
v A\ 4 4
Fulcrum between Load between - Effort between
effort and load effort and fulcrum load and fulcrum
A - .

(b) = How does using a braom to sweep.the floor help us to do work faster?




"‘4 Jalme recorded the. change in temperature of water in 3 cans, A B and C for 3n A
s “minutes. The cans contained water at the same t mperature at the begmnlng of the
- exgenment Each can |s covered w1th a |ld ‘ . Ce

- 100ém® =

_Water_ )

'CanA—_. -

1. .80cm® |

water,

Can B -

‘Ié ok

PR
© fl———themometer

. sfyrofoam

_400cm®

. 'Can C

water -

- She p[otted t.‘".e .,harige in temperature for the 3 cans m the graphs below

;i'ernperature
of water

(°C) - -

(a) thch of the graphs represent the change in temperature for Can A?

]

15 20 257 30 Time (mins) .

¥

7 .

.

(b) " Why did the femperature of the wete'_r rer:.}_ai.n- gonsiarit after some time?
| ]
; (é) . Without chanqmq any of- the 3 set—ups what should Jaime do to make the
. ~ temperature drop faster?.’ ' S
. 2V
25

!75




. 41. Brandon carried out an experiment using 3 levers as shown in the diagrams

below.

"He applied an effo_r_f_ atEnd B to balance the Ioa'd_' at End A, Then he recorded the
effort required to lift the load for each set-up. '

(@)  What was the variable Bran

(b) - Whatwere the 2 varables Brandon kept the same in the experiment?

Lever.used Load (g) | Effort(g) |
foad | effi” | ‘ ‘
, Fl_* “““““ + 100 100
TA AN 8 - :
fulcrum
load effort
1 i N
F‘j """"" * 100 - 200
A flcnem 8 :
load . -ofor
Tee EPREREES 5 100 50
YNAN B
fulcrum
idon changed in the experiment?
1]

(c) B What can you conclude about the effort needed-to balance the load and the
- . distance between the fulcrum and the load?

1

4]

26

A'.‘:dbr



42. Kai Llng wants to setup.a cnrcuut that w:ll altow the bulb to llght "p for a longer
_ -penod of txme - S

. She !s gwen a bulb 3 battenes and some w1res

SRCIS ;Qcmplé_t_é:ﬂﬁé_diagram-ﬁglow to show-how she should set.up the circuit. - _-‘[1 Yl -

@

—

_ {b) Name énotheﬁ pcssible arrangement for the batteﬁes which can light up the bulb
' brighter? . -

i




43.

(@)

(b)

Ke Ling conducted the following experiment. She set up 3 flasks, P, Q and R, each
containing 250 mi of water. Flasks Q and R are filted with a glass tube of simiiar
diameter as shown. She left the 2 flasks in a room. Five days later, Ke Ling
measured the amount of water left in each flask.

On the graph beltow, show using bar-graph the amount of water feft in each flask.

il

—y

250"

volume
of water
left in the
flask (mi} |

v

P Q R

Which flask, Q or R, had more water left on the 5" day?

{7

Explain your answer in (b).

(i

2%

28



S 44

“@

o)

“and ‘a 200g-weight, describe the sL.ps Han Jie should take to draw a scale on the

| Han Jle made a baiance to measure some welghts

He f rst made a cyimder w:th -a hoie in the centrt, Ne)d he piaced an a!umtmum rod .
7 xin the hole. Then-he tied the dluminium rod to the cyimder wr*h a rubber band and E
L '-attached a. hook to ane end of the rod S

C\iummium rod

N-._/

‘e - tape
to secure

Vo /rubber
- W ban

\_/ " ] i .
Cylinder with a rubber
Hole in the centre band . —

Balance

'\.’. gt happens if a 50g weight is hung on tf‘e a.uml'uum rody - -

1.

a

if the balance can-weigh a maximum of 200g and.Han Jie only has a 50g-weight

u'n!nlum rod to show Og, 50q, 100g, 150q and 200q.

.The ﬁrst- step has been done for you_. : ) i : 2p
. Step 1 | Mark thep mon on the rod when there is'noweight attached.

.19




49.

A

fb¥

Bennet made an electric doorbell for his Science project using the circuit below.

Metai spring

B vsssa
;ron / — lron arm
o co,re,\"- ] | '
WL
' Contact

Bell hammer

Based on the diagram _ébove, explain how this, electric doorbell works.

Explain what causes the iron arm to move backwards again. ‘

(2

[

30

150

ALl



- 46.

(@)

o)

Similar mass of substances X and Y were placed in separate beakers.-in a room.

Melting Point {°C) | | Boiling Point
- [ Substance X 10 - . 110
S SUt_)'stanceY 25 : - 85

If thé temperature of the room is 15°C, ih what state wouldvsul:v)stariceY be?

04l

if the two beakers are heated tc 85°C, whlch substance, Xor, wrli have a smaller
' mass leﬂ? Give = raason for vour answer. .
- N 1]
1%
“ND OF PAPER
- 371

%3




Maha Bodhi Primary School
Primary § Science SA2 Exams (2008)

Qo. Ans Gn no. Ans Qn no Ans
1 4 11 4 21 1
2 3 12 3 22 1
3 3 13 2 23 i
4 2 14 3 24 P
5 2 13 2 25 2
6 3 16 4 26 4
7 i 17 3 27 2
8 2 18 3 28 3
% 1 19 3 29 1
id 1 20 2 34 i 2
31a. viinerai sait
3ib No. They cannot break down dead plants and animals tc simplke substucces and
carbor dioxide.
32a. Part B
32%. Izt ilie sinall intestine
32c. The digested is used up by the cells in our body during respiratica,
23a{i). Plant X : has teadriis (i) iis feaves have jagged edges
PlantY : has thorns (i) its leaves have entire edges
33b. It climbs up other trees or pillars to get as much sunlight as possible using their
terdrils.
33e¢. It helps the piant to climb up support to get their leaves in the best position to obtain
sunlight.
33d. It helps the plant to stand upright in the water so as to get more sunlight.
34a, It is oxygen
34b, Graph X
34e, The rate of photosynthesize is higher when there is more carbon dioxide.
34d.
35a. Setup Band D
33b. She made the wrong conclusion.
35¢c The secds in set-up D germinated even though they were kept in the dark
30a. A : Bywing B : By animals
36b. The soft hair helps the fruit to float in the wind. The hooks get atiacied to the body

of the animal.




33a.

38b.

35a.
39b.

40a.
40b.
40c,

21=.
41b.
41c.

Jerry made a quicker recovery. Jerry regained his normal breathing rate 8 mins
while Wei Tiong needed 10mins.

A,E DB C, X
the effort applied by the hand only moves a short distance but the load moved a
greater distance.

Graph Y
It had reached room temperature.
She should place them in an air-conditioned room. -

The distance betwesn the fulerum ard the affort '
‘The Ioad and the disiance beiween the ioad and the effort.

The nearer the distance between the fuicrum and the }oad, the lesser the effort needed
to balance the load.




42a.

42b.

43b.
43c.

44a.
44b(ii).
{iif).

(iv).

45a.

45b.

46a.
46b.

Er B R s
Series arrangemert

Flask Q

Water vapour formed i & escaped into the space inside the flask because of the
position of the tube. The space becomes saturated with water vapour so rate
evaporation decreases.

The aluminum rod would go down slightly

Place the 50¢ on the rod and mark 50g

Place the 200g on the rod and mark 200g

Use the length of the extension of 200g to take away that of the 50g and you caxz
find the 150g scale.

Use the length of the extension of the 150g to take away that of 150g and you will
find the 100z scale.

When the circuit is closed, the iron core become an electromagnet, causing the iron
arm to be attracted to it and the beii hammer his the bell, producing sound energy.
When the iron arm is attracted to the clectromagnet, the contact is broken, so the
circuit becomes incomplete. The iron core loses its magnefism and the iron arm
moves back .

1t would be its solid state.

Substance Y. As subsiance V is at its boiling point while substance X is not, the kquid
of substance Y start to evaporate first.
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